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1. In the long run, a competitive firm will operate at;
A) its efficient scale.
B) minimum marginal cost.
) Total Revenue > Total Cost.
D) maximum Marginal Revenue.
E) all of the above.

2. The inefficiency from monopoty results because:
A) there is no competition to force down cost,
B) high monopoly prices are not equitable.
C) monopolies tend to be too big and unwicldy for efficient operation.
D) monopolists underproduce relative to the ideal, at which society’s
Marginal Cost=Marginal Benefit.
E) all of the above.

3. If a nation has an absofute advantage in the production of & good,
A) it can produce that good at a lower opportunity cost than its trading partmer.
B) it can produce that good using fewer resources than its trading partner.
() it can benefit by restricting imporis of that good.
D) it will specialize in the production of that good and export it.
E) none of the above.

4, If a nation has a comparative advantage in the production of a good,
A) it can produce that good at a lower opportunity cost than its trading partner.
B) it can produce that good using fewer resources than its trading partner,
) it can benefit by restricting imporis of that good.
D) it must be the only country with the ability to produce that good.
E) none of the above.

5. Which of the following would zot increase the demand  shift the curve to the right) for beer?
A) A new NTU study concludes that beer cures colds and skin disorders.
B) A price war results in beer selling for NT$5/bottle.
() Night clubs begin giving away spicy snacks to their customers.
D) The price of a substitute, hard liquor, zises.
E) There is an increase in the drinking-age population.
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6. If buyers believe that the price of automobile antifreeze will rise soon, due to an increase in the price of
cthylene glycol, which is used to make antifreeze, the most likely immediate result will be:
A)adecrease (shift to the left) in the demand for antifreeze, due to a change in tastes.
B) a decrease ¢ shift to the left) in the demand for antifreeze, due to a shift o substitutes,
O) an increase in the quantity demanded, due to the change in supply.
D) an increase { shift to the right) in the demand for antifreeze, due to a change in expectations.
E) no change in demand; only supply will changes.

7. A seller desinng o increase total revenue should:
A) raise price only if demand is elastic.
B) raise price only if demand is inelastic.
O lower price if demand is inelastic.
D) lower price if demand has unitary elasticity.
E) make pricing decisions based on elasticity of supply, not demand.

8. Congressman Chen wants to reduce cigaretle smoking by increasing tobacco taxes. It will probably take a
fairly large tobacco tax to make much of & difference, because:
A) price 18 irrelevant for consumers,
B) demand for cigarettes is totally inelastic,
() demand for cigarettes is relatively inelastic,
D) supply of tobacco is relatively inelastic,
E) supply of tobacco is relatively elastic.

9. A $500 per automobile pollution tax on the manufactuzers will shift the:
A) demand curve down by $500.
B) demand curve up by $500.
C) supply curve up by $500.
D) supply curve down by $500.
B) supply and demand curves down by $500.

10. A tax is most likely to be paid by the seller when the:
A) demand 1s elastic and supply 15 inelastic.
B) demand is inelastic and supply is elastic.
C) tax is levied on the seller,
D) supply and demand are elastic,
E) supply and demand are inelastic.

1 1. Producer surpius is the:
A) total profit.
B) difference between what the consumer offered and the actual price paid.
C) difference between price and opportunity cost of production.
D) inventories that could not be sold at the market price. > s
E) the difference between willingness to seil and willingness to buy. 4-3% I ﬁ
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12. Total economic well-being to society is the:

A) consumer surplus less the producer surplus.

B) sum of consumer surplus plus producer surplus.

C) ratio of consumer surplus to producer surplus,

D) total gaios to consumers, producers, and government.
E) none of the above.

13. The effect of a tax on behavior will be greater if the tax is levied on the:

A) buyer.

B) seller.

C) buyers and sellers equally.

D) buyers in the short run, but the sellers in the long run.

E) none of above: The tax will have the same effect regardless of where it is levied.

14, The deadweight loss of a tax is equal to:

A) total taxes paid.

B) loss of producer and consumer surplus due to the tax.

C) total taxes paid plus the loss of producer and consumer surplus due to the tax,
D) loss of producer and consumer surplus minus total taxes paid.

E) none of the above.

15, If Taiwanese buy automobiles from Japan, than that:

A) Taiwan’s standard of living will fall, but Japan’s will rise.

B) Japanese standard of living will fall, but that of Taiwan will rise.

C) standard of living in both countries will fall.

D) standard of living in both countries will rise.

E) standard of living may rise or fall, depending on elasticity of demand.

16. If the U.S. sells soybeans to Japan, then:

A) Japanese soybean farmers are better off.
B) Japanese soybean consumers are worse off.
C) U.S. soybean producers are worse off.

D) U.S. soybean consumers are worse off.

E) all of the above.

17. Which of the following statements is true? The most efficient solution for a negative

externality would be:
A) an outright ban.
B) direct regulation to control the amount of the externality.
C) either a pollution tax or subsidy equal to the amount of the negative externality.
D) a tax on the good or service associated with the pollutant.
E) a subsidy to not produce the good or service associated with the pollutant. i%
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18. The whaling industry has driven some species of whales nearly to extinction. Cattle, however, continue to
thrive on farms throughout the world. The major reason for this difference between cattle and whales is
that:

A) whales have a longer gestation period than cattle.

B) whales are more valuable than cattle, and whalers are simple responding to economic incentives.
C) the technology for harvesting whales has improved faster than is the case for cattle.

D) whaling is an international industry but cattle are raised locally.

E) whales are a common resource and cattle are private property.

19. Which of the following costs is variable in the long run?
A) wages paid to labor.
B) payments to suppliers to buy new capital equipment,
) rent on land,
D) interest on business loans to buy capital equipment,
E) all of the above.

20, The most important source of inefficiency under monopolistic competition is:
A) lack of spending on research and development.
B) the product-variety externality that results from the introduction of a new product,
C) failure to capitalize on economies of scale that would make the firm more efficient if it expanded.
D) the business-stealing externality that results when new firms enter the industry.
E) excess capacity, because there are too many firms producing essentially the same product.

21. John lost his job as a department store manager because of poor sales resulting from the recession. John 1s
A) a discouraged worker
B) structurally unemployed
C) frictionally unemployed
D) cyclically unemployed
22. Nominal GDP means the value of goods and services is measured in prices.
A) real
B) current
C) average
D) historical
23. An LM curve shows combinations of?
A) interest rates and incorme that bring equilibrivm in the market for goods and services,
B) government spending and investment,
C) nominal money balances and price levels.

D) interest rates and income that bring equilibrivm in the market for real halances.
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24. Using the Keynesian-cross analysis, assume that the consumpuon function is given by C=1,760+0.9(Y-T).
g.pla.ned investment is S00 and T is 290, then the level of G needed to make equilibrium Y equal 23,990
A) 400,
B) 360.
C) 440.
D) 500.

25. One of policy responses 1o an economic slowdown is to increase money growth. This pohcy TESPONE Can
be represented in the IS-L.M mode] by shifting the curve to the

A} TIS; left
B) IS; right
C) LM; left
D) LM right

26, In the IS-LM model, an increase in the interest rate would be the result of a(n):
A) decrease in the money supply.
B) decrease in the money demand.
C) decrease in government purchases.
D) increase in taxes.

27. If the net capital outflow is negative, then:
A) imports must be positive.
B} imports must be negative.
C) the trade balance must be negative.
D) the trade balance must be positive,

28. In a small open economy, if domestic saving is $80 billion and domestic investment is $90 billion, then
there is a trade and net capital cutflow.

A) deficit; negative
B) surplus; positive
C) surplus; negative
D) deficit; positive

29, Efficiency-wage theories suggest that a firm may pay workers more than the market-clearing wage for the
following reason:

A) increase labor tumover.
B) improve the quality of the firm’s labor force.
C) decrease worker effort.

D) reduce the firm’s wage hill.
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30, If the short-run aggregate supply curve is horizontal, then:
A} the money supply is irrelevant in the short run.
B) it shows fixed prices.
C) the money supply cannot affect output in the short run.
D} it shows fixed output.

31. Suppose there is a closed economy where full employment always prevails. Its national saving (S) is 300.
If domestic investment is given by 1=400-20r, where r is the reaf’interest rate in percent (eg. r=10
represents 10% interest rate). What is the equilibrium interest rate?

A) 10%.
B} 8%.
C) 5%.
D) 2%.

32. Pollowing the above question, if the economy becomes a small open one and the world interest rate is
10%, what will the trade surplus or deficit be?

A} The trade deficit will bes 50.
B) The trade deficit will be 100.
C) The trade surplus will be 50.
D) The trade surplus will be 100.

33, Assume that the nominal GDP increased by 6 percent and the GDP deflator increased by 4 percent in the
past year, we know that the real GDP by percent.

A) decreased; 10
B) increased; 10
C) increased; 2
D) decreased; 2
34, Okun’s law is the relationship between GDP and the

A} negative; price level
B) negative; unemployment rate
C) posttive; price level
D) positive; unemployment rate
35, When government spending decreases and taxes are decreased by the same amount, interest rates:
A) unchange.
B) first increase and then fluctuate.
C) increase.

D) decrease.
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36. In order to decrease the money supply, the central bank can:
A) sell government bonds.
B) sell corporate stocks.
C) buy government bonds.
D) buy corporate stocks.

37. Suppose that in 2005 GDP (Y) is 100. If the money supply (M) equals $1,000 and the price level (P)
equals 100, What is the velocity of money in 20057

A) 10.
B) 20.
C) 50.
D) 100.
38. Suppose the consumption function is given by C= 200+0.75Y and Y decreases by 1 unit, then savings:
A) decreases by (.75 unit.
B) decreases by 0.25 unit.
C) increases by (.25 unit.
D) increases by 0.75 unit.
39. Tobin's q is the ratio of the
A) market value of installed capital to the replacement cost of installed capital.
B} profits of capital to the rental rate of capital,
C) rental rate of capital to the replacernent cost of capital.
D) profits of capital to the marginal product of capital,
40. The central bank in the United States is the;
A) Bank of America.
B) National Bank of the United States.
C) Federal Reserve.
D) U. S. Treasury.
41. A consumer's preferences over consumption in two periods can be represented by:
A) the intertemporal budget constraint.
B) the discount factor,
C) indifference curves.

D) the marginal rate of substitution.
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42. According to the mterest parity condition, if the domestic interest rate 15 8 percent and the foreign interest
rate is 6 percent,

A) the expected appreciation of the foreign currency must be 4 percent.
B) the expected appreciation of the forgign currency must be 2 percent.
C) the expected depreciation of the foreign currency must be 2 percent.
D} the expectied depreciation of the foreign currency must be 4 percent.

43, In the simple deposit expansion model, 2 decline in checkable deposits of $1,000 when the required
reserve ratio is equal to 10 percent implies that the central bank

A) sold $1000 in government bonds.

B) sold $100 in government bonds.

C) purchased $1000 in government bonds.

D) purchased $100 in government bonds.
44. When a country’s nominal exchange rate increases (domestic curtency depreciates), the price of

A) foreign goods sold in the country increases.

B) that country’s goods abroad increases.

C} foreign goods sold in the country decreases.

D) that country’s goods produced and sold at home increases,
45, Domestic monetary policy is essentially useless under

A) floating exchange rates

B) fixed exchange rates

C) conditions of chronic trade surpluses

D) conditions of chronic trade deficits
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